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A 2(VI2x VT) + (V28 x V3) &
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3.

® 3 @1+ 3 ® 2+ V3
@ 5 ® 2+2v3

1< V3<20]B2
“a=1,b=V3-1
“2a+b=2+V3-1=+V3+1




4.

4a*(x - 5) - 2a(5 - x) 5 J5-E3\SHH?

@ 2a(x+5)(2a-1) @ 2a(x-5)(a+1)
QQa )(2a+1 @ 2a(5-x)(2a+1)
® 2a(x-5)(1-a)

4a®(x —5) = 2a(5 — x) = 4a*(x — 5) + 2a(x - 5)
=2a(x-5)(2a+1)




5.  4a®—12ab + 9b* & A5-E5f SHH?

® (2a+ b)(2a - 9b) @ (2a+ 3b)?
® (a+ b)(da—9b) @) (24 - 3b)*
® (4a+b)(a+9b)

4a2 — 12ab + 9b% = (2a — 3b)?
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T A X2 4 12x+ A, x% — Bx+ 49 7} SAAFA o] H L2 5H= oS

A, Bol ti5}o] A + B 9 3r&?

@ 55 @50 ® 46 @ 42 ® 38

B ~
(x+6)? = x> +12x+ 36
o A=36
(x-7)2=x%>-14x+49, -B=-14
~B=14
A+ B=36+14=50




10.

xX2—dx—-A=

® -36

B

@ -54 @36

@ 54

(x+5)(x-B) & 1525 Hrh. A-B 9| g& 513

® 64

X2 —4dx -

B=9
. A-B=

A

= (x+5)(x—B)
= x> - Bx+5x—5B
=x2+ (5-B)x-5B

5—B=-4,5B=A
A =145
45-9=36




11.

=A% g b o) Hiote] a> 0,6 <0 Y T, VaZ - |b| +
4

ks st
D 0 @2a ® 2b
@ a—b @ 2a 2b

(a-b)? <

a>0°E2 Va2 =a

a>0,b<0°B2 \/(a-b)2=a-b

L(E)=a+b+a-b=2a
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13. V2=a, V3=0 %4 ™, V54 Ea bl B3 A 02 Yepdl 227

@ a+b @ a+b? ® a*p?

@ab3 ® ab

V54 = V2x3x3%x3= V2(V3)? = ab®




14. /(5-2V5)2+ /(25 - 5)2 & 7] 61 4+ b V5 oItk Rl
a ¢+ b 9] 927

®-4 @0 @3  @s ® 11

~&B

5>2V50| B2

V(B -2V5)2+ /(25 - 5)2
=15-2V5+2V5 - 5|
=5-2V5-(2V5-5)
=5-2v65—-2v5+5
=10-4v5

L a+b=10-4=6




15. (x+y+4)(x—y+4)-16x S HI2A] 5Bt A9

D (x—y+4) @ (x+y-4)?
® (x-y-2)(x+y+8) @ (x+y-1)(x-y-1)

® (~x-y+4)(x-y+4)

~&B

x+4 =12t
(t+y)(t—y) - 16x
=1 -y - 16x
= (x+4)?-16x -y
= (x? +8x+16—16x)
= (x? - 8x + 16) -
— (- 47 -7
=(x+y- 4)(x y—4)




